PARAGON CONVENT SCHOOL
SECTOR -24 /B, CHANDIGARH
ACTIVITY 5
Q-1.The cost of of 7 pen is Rs 364 .What is the cost of one pen.

Sol. Cost of 7 pens = Rs 364
Cost of 1 pen =364 =7
Cost of 1 pen = Rs 52
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Q-2 .The product of two number is 4560. Is one of them is 15, find the other
number .

Sol. The product of two number = 4560
one of them = 15
Other no. = 4560 + 15
= 304
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Q-3. 5255 balls have to be filled in 34 boxes. How many balls will be filled
in each box if all boxes have the same number of balls. How many balls will
be left out ?

Sol. Number of balls in 34 boxes = 5255
Number of balls in 1 box = 5255 + 34

One box contains 154 balls and 19 will be left out.
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Q- 4. 18 books cost Rs 9972 find the cost of one book.
Sol. Cost of 18 books = 9972
Cost of 1 book = 9972 + 18

the cost of one book= Rs 554
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Q- 5.Rahul packed 2470 kg wheat in 38 bags. How much does each bag
weighs.

Sol. 38 bags contain wheat = 2470 kg
1 bag contains = 2470 + 38

One bag weighs = 65 kg
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Q-6. A number divided by 25 gives 171 as the quotient and 10 as remainder
find the number

Sol: Dividend = Quotient x divisor + remainder

=171 x 25 +10 171
= 4275 +10 X25
= 4285 855
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